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melal miclig oy
v e S cven when
kept an a paim due ta jts Ipw: Melting pning?

Choos Y i
5 ¢ I!lc maxe aphropriate MMSWer from (e
oplions pivey below;

(A\) Magnesium (n) Ms:r::ury
() Caleium (D) Gallium
(B) Qucs\ljnn Ot attempred

?-‘r;u-;gu,-}—}:ax ":ﬁ“‘ﬁmﬁt!ﬂm%

options piven below;
(A)  Silver (B) Gald

(©)  Copper (D)  Aluminium L

&E) Question not attempied
m’h’ﬁi%ﬁ-ﬁmﬁﬁawm@éﬁ
%ﬁﬁﬁﬁ%mmﬁ:
EVI (B) @t )

© @ (D) Tgfifam

(B FaRawm

Which of the following statements is incorrect?

Choose the moast appropriate answer from the

oplions given below:

(A) Sodjum and polassium are soft metals and
they can be easily cut with a knife,

(B8) Iodine is 2 non-meral but it is lustrous,

(C)  Mercury is 2 metal which is liquid at room

temperature.

(D) Graphite isameral whichisa bad conductor
of eleciricity.

(E) Question not aempled

= 3 W FHH T S &7

ﬁm%f‘@aﬁarﬁﬁﬁnaiﬁ:wsvgﬁ;mﬂﬁ: .
(A) EET “n Srefmam I urqd & o =

ST § AT & 72T S o 2 .

(B) HHIEH & avrg & ST a8 Swhrel deft
2l

(C) ORI O UHT uyg & 9% e & Ao ot g
STIET T €T 81 R

(D) hﬁg%iﬁlu@%mﬁrﬂazﬁtm
Il 21

(€) Sigef@wy

Where is the Ramsagar wildlife sanciuary f.-,.;aud
C. L b

in Rajasthon? Srikiier 7
Chouse (he mot appropriale 054er frm the

aptivons given below: )
. (13) Ajmer

(D) Dholpur

(A) Churu
(C) Hundi )

: uestion not attempic L.
M g TAEIA B FE fem iy
frerforfm frgeil 6 9 w9 39 T,

(A T=

Which of the following staternents is not correg

about the Palash forest in Rajasthan? ,
Choose the most appropriate answer from (ge |

options given below:
(A) These forests are spread in Alwar, Ajmer,

Sirohi, Udaipur, Pali and Chittorparh
regions.

(B) These forests are sub-types of tropical/dry
deciduous forests,

(C) These forests are spread in those areas
where the surface is stony and hard.

(D) These forests are found only in platequ
region of Rajasthan,

(E) Question oot attempted .

T 5 o o ¥ wed F oy 7 3 mar ey

A EE L U ——

(A)  FFIT 3R, mmmmaﬁr
Ferioms & ey 5

(B), T T Il o = ¥
I-WFR F

(©) T T 3 B ¥ & § v e ¥R
e ) '

(D) 7 &7 I 3 Srereq oy dgy g qry o 81

(E) orafawsy
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\\_.’hich of the ['ollnwing Tegions
highest rainga)) in Rajasthane

hoose e
“he the mrose PPTOPTiate answer from the
PLONs piven below:

(A) Nagay, (D) i

! Dik
(C). Rajsamang (D) r\Chl:]r:cr
() Ucstion NOt altemp

e d, | T TR watfis aof
ST I
Ve RRRE

(0) gw

hich nver js the Gand); Sagar

receives the

TSy
(B)  Niwferyy
In Rajasthan on w
Dam locared?

Choose he nprox
) St appropriate answ
: . er fr
options given bel ow: g rom the

(A)  Chamba) (B) ~aM
(C)  Saraswar; Q\antha

an
(E) Qges_tionnotancm {%B =

Soo
©) ==t D) =g
B) Fuimws
According to the Natmnnt‘i;cscarch Centre for

Choose the maost ap,pmprfa_;e_ answer from the

options given below- 1

{(A)  Soil managcmentoof shelters  and
numbering of camels for identification,

(B) Hair trimming, vaceination and spray of
chemicals. r~

(C) Investipation of eamel
endoparasites rypangspme. »

(D) Vaccination and medication for killing

sample for

cndoparasjtes,
(E) Qucstiqn not altemp . .
UG 3¢ ATHUH T2 , e % e Jit
TS Serel | v a1y et

= ﬂﬁrféﬁmﬁ?rfr‘ﬁ_ € ‘
ﬁmgf@aﬁﬁﬁﬁﬁmwgmmm:
(A) mﬁwmﬁw%%ﬁwrfﬁ
Bt C ] .
e , FTET 2T SR vt o1 forgerma
gg; Wﬁwm:m fere S & =it <y

- ﬁmﬁﬁw@%hmaﬂf

dials] N
; (B) rgarany o
£ orqe-x12] [7]

9

10

-y Eer—

e .
- '
(o) f.' 400" LAY ]

: rasites
Which of ihc following are the internal pa

in farm animals?

a, Round-worms  b. Fleas
€. Tapewarm d. f";Mn‘"‘s

c. Coccidia ¢

Choase the maost apﬂmﬂ’g}’"’ answer from the
options given below: C‘I

(A)  candconly o

(B) a,candconly A

(C) b,candd only o

(D) a,bandd only

(E) Question not attempjted L R
ﬁw%@aﬁam&magm; i 5 S areia

?'? :

a. U b. gm

€ YmETHfr d. ofsFer @)

e =TS o
ﬂ%ﬁqmﬁaﬁﬁ%mﬁ”w:agwmﬁi:
(A) FaFcafle

(B) %ﬁ?ra.c-ﬁ‘tc I~
(C) FawTb,cafkg O
(D) FaeTa, baiitg g';'

. B stgaRa s o

)
The common drug for the tfedtment of coccidiosis
in cattle is: =
Choose the mosy @ppropriate answer from the
options given below-

(A) Dopsone oy

. (]
(B) Chloroquine - oy
(©)  Gentamycin o
(D)  Kanamyein G

(E)  Question not altcmp‘ar‘f':l
AR § Frwifedig Fdyamw ¥ T amr=r
afafir @:

Frefefa R 8 mrffaa;:mgmmﬁ;
(A) w g _ h

(B) aeiNetT N
(C) S=mrfE N
(D)  FrTsfee N
(E) rgafta war g ,

-
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() Srgafayy
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& Dhaman Dy |, g

b Nan Dy W Ul Yo
- A oy WL Siwana v

o Paikh g Jaisalner Bt
T g B AR

T RRY

== vy (RR vy
A wesg Loy R
b sy W Rz a9 fian
e ¥my W R R
4 Sww W, Saak s

Choass e mowr APPrOPRRe answere R the
Options piven Ielows

SN R Rty TR Tugm
A) a-l\'.b-ll.c-lll.\l-‘l .
(BY a-m, ballcatvid.d

<) a~Lb-lles ML d v

(DY a-IVobeWle-nd.

(B} Question not attempted / Qﬁﬂﬂn Ny

Who travelied Wavigh the villages of Repinstiuan
and started his series *Mein Deklua Chala Gaya*
based on the rumil lite and seviety ol Ragasthng?
Choose the mangr appropriate answer fhw (e
options given below:

(A)  Jagiit Singh
(3)  Karpur Chand Kuligh

(C) Pt Vishwa Atahan Bhan

(D) Dr. K. Scihi

(E)  Quesiion no altempled

Femer e & o a v R e R W
amter Sl T mr @ smafur derer o Ram
T T 7y [

et o J a wrifires Tag 3ue g
(A i fig

A gl

(©) 9. faw v vy
(D) 3N, & Py

-X12]]

ll‘

L]

lo

iy 1909, wline Bevanne e COeE Nnligge o
et Uiadon ol Radastlam®?

Clhose W g aggrespeinte aiswep oy "’;
aptiiv ptlven below

Y I Wb (I Sewa Ry [
(Y D bl Shasteb (0 Shobbn Ry [
Y Questlvon not ntempted |
V040 0 3 Qanteint 40 el gy |
Rl Aaed A Q m""m”’:’"ﬂmmqﬁ: ‘

(AY 3 (- daran
L(Q/ﬂhu-nemnn (M

LRI
(ol ua

!
!
|
|
|
|
t

A s ot T 15,000 s invested on compayny
intewest Qe 3 veurs, IFhe mte of interest for three
Sueeessive yeurs we 1%, 8% and §% pPer innum
espeetively, then what will It nmount (o2

T 18000 0 wErf 3 and A R TR @
R 0 SR 1 3R w@nrene 3 e fovq =t
TR L0, 8% SR s95 Wil &, oY it ot e
RILRUNRHTRNI MY

WY T (M T 800

©  Tasoon M Tisss2

W Question wot attenipted / drqafar v

Wit is the spound interest on T 15,625 for 9
montsat L6% per anmun com e quarterdy?
T 18,625 WT 14 wRrod oy o @) et Srrure e
W B R =i o nre A Ry A
i

(A T us M Teal

K Tixe m YW

) Question not wiempted / agguiur oy

My COMPI FIICesT i certuin sum inereases by
T0.28% in 3 yems, The mte ol iterest et annum
iny

g Roan v ARkeeuRe 2wt o285 wy
NIRRT RS T RTAR
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(Y (n &M

(D) Questlon nat utteijpi) 7R K
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17 i . : j i
The monthly incomes of A nnd Barcinthertio | 20 Which physiographic region of Rajasthen is

known as the *Hadoti PMatean™?

453 i
and thejr monthly expenses are in the mtio rom the
Choose the maost appropriafe ansy th

32017 o
each saves ¥ 800 Per month, then what s

the sum ol their monthly incomes? :
A ¥R - > 418 B 2o oplions given below: .
q.iﬁ‘,.a\_ﬁ = sgm i b ﬂﬁ'trﬁ'a;af%; « <on (A South-Eastern Platenu region
mm?\ﬁ‘ﬂﬁﬂﬁmmmﬂnm%‘ (B)  Semi-Arid region
(A Tsa009 ®) T 96.000 (C)  Aravalli region \
< Y 28000 DY T s6.000 J({O‘ﬁ (D) Eastern Plain region \
(E) Question not attempted / Nﬁﬂﬂw (E)  Question not ntternpted \
TS i1 A s & g1t 3 gen %
18 Which npe of forests are reganded as most ST S 87
;?::;; mbz :pmpﬁntc answer from the (B) anf-‘graqa}a'
(A)  Resenved foresss - = 3‘173?& N
(B) Geneml forests O Wi
{Q)  Protecied forests ®) gl
(D) Unaclassed forests .
() Question nor actemgied "] 21  The ‘Plain of Chhapan® is located in whick of the
T S F’mm:’r%-rz—fauiﬁﬁmm% following physiogmphic regions of Rajasthan?
aﬁ‘a‘r?:r}:qﬁq o Choose the mosr apprapriate answer from the
E=n= {m‘i’i-‘-} S Srgw TR options given below:
l_b‘-/;i'ﬁ-&:_n'ﬁ? (ﬁ_q?é% (A) Eastern Flain region -
B) == (B) Western Desert recion

(C)  Aravalli region
(D)  South-Enstern Plnteau region

(C) T plizres wiew)
(D) S=THaET

(E)  Question not attempted

(E) SIamaws
' T IR T ¥ Freffan § ¥ R
19 Sariska Wildlife Sanctuary js situated in: Vi s i 2o
(A) Kemla (B) Rajasthan P l/mﬁiﬁmﬁﬁwwammgﬁ:
(C) West -Bmgal (D) Assam \(A)” T et
(E) Qucsflon not :itlenf;:;dé: @) e o -
:A”; e () - (C) anraef o
(C) 9lZmaEma® (D) ayEwd (D) Myl v & .
(E) 3l war

(E) IaRaag
orQ-x12] [} 5 [ Conta...

e e e e
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Which af the ollowing suteneats is not correct
ahont e desert soil in Rajnsthan?

Choose the e .:_l;lpmprhrrt' aswer [rom the
options piven beloys

(AY  ltlneks in‘g_l}ilil_\' and keeps more solinity.
Yy hremn nllsulrl)luml hold the witer meh.
(€Y This sail iydpsplaced by witnls,

(M This soil igfound in westem Rujusthon.
(1) Question whipnitempid

o & vt g A v 3 Frafafa i
TI-|1 7w we

Frfafa famed) A A waffs sogw sncg:

() TH Idw %ﬁ ) e o v ot
L TR T A 3 w1 Qv i) T T
|l D1 0
(C) T R IR AW FEaie wed
(M) TT R S e § el e d
() XFaiEa N
]
23 Goitre is caused due 10 the deficiency of this
clement In our di{.‘Q
Choose the mns{.ﬂppr'uprfnm answer from the
oplions given beloy'!:
(A) Calcium (4 (13) Sodium
(C) tron ¢y (D) lodine
(E) Question idtatempled
mmm&mﬁsﬂmﬂw#m
e o R
Tt fawed § § gaifad I9gw S gh
(A) &= p- (B) wiisqd
© == ¢ (P) 2R
(B) v 370
|
24  Which of the f8lidwing is not a biodegradable
wasie material? C
Choosc the mo: '{Jppmprlarc answer from the
oplions given beloW:
(A)  Excreta (B) Leaves of plants
(C} Mext ~ (M Painl
E) Question 4o attempted
:En):!’r'aﬁ'ﬂ A4 a%ﬁl-m ayafine @
7dl &7 9
et Fraeeit @ wafir I9gw S
©) T ol o =
(C) i wk?
ore-x121 (7]

26

Which of the following are nog e ihl
entnes ol A1DSY posdible

A
fh, Drinking impure w,
P\l pure waler freom wells nnd |

pomly o
I By hugghyie the inflecicy persan

¢ Iy injcfl.llm needie or bload transfusion
. ® N ) )
d. Fromm |||{:‘: sled mother 1o baby in the womh

Choase he mayt appropriate answer (rom the
aptions given helow:

(A) o bandeonly (13) conddonly

() tbond dfeilly (D) nandbonly

(13) Qucsliuﬁ_l:"nol. nltempted

oo 3 A 3 T 5 Ao s A 2
b, e S P e S
o, SO Ty T R T TR 2

d. émﬁ'cr?'r_qrisnﬁﬁm:;?r
ﬁﬁqmﬁz@ﬁ?ﬁﬁwﬁfbﬁmmgﬁ:

(A) Faela,bxfitc (B) et ¢ 3R d
© FmbRd (D) FEeasdcd

0O

(B) SrIEiEEy
o

Which of lhct? following diseases is mot 2
communicable discase?

Choose the n{%x appropriate answer from the
options given bejow:

(A) CancerCY

(B) Tuhcrcﬂs:sis

(C) Chic}:ct;}l:}ox

(D) Choleradd

(E) Question not attempted
Frafafaa ¥ YwT-ar g U e 82
Frerfafer Rreadl 3t & wav e suge s
(n) a

(D) TR )

(C) T it
(D) (vm%)
(£) Srgwie wx
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Which of (he following statements is incomeet | 1

ahy

LL\\\\!? the moxr appropriage answer from the

SPlivax g Liven elow:

N\ Quire distinet van; aivns ane visible amonyg
the |mlnulu1l Which Npnvduce asexually,

(B) Aniationg arising dunm, the process of
Paduction can Y inheripey,

() Sone amoum o viration is Produced
oven dunm_ asexual nep Production,

(DY © Dumbep Ny Suevess iy VaHralions ype
MANTMiz o B the process o sexual

. Sp\\du\non

( un.\non noy auempd

SEEE & -m:r %ﬁﬁ%ﬁﬁ

?‘1:-‘-—11 =us \‘:-1-'31_6?

F-‘é‘m.—“r_sa- fERas a—sr&)a-,-mw,-

(A) '~.1 \ulq&\-‘:‘_ﬁ?-'rap‘q-\-l ﬁﬁﬁ'ﬁ“q"‘t&?
<=5 I=u\|._ i‘::‘.\:—‘x‘(‘q'q"'-im'ﬁ?'i"r ]

(BY u‘—- '=-: =T T B Ei5i0 %ﬁ:qfﬂ'q
BN w sEary

() T Sy ST T T 555 SR T =
'S-‘c'-T‘E‘-l

(D} c1| =355 53 wummwm‘%ﬁmnﬁ
= l ‘;G-ﬁ' RE-LST -E'-I-Cﬁ %I

(E) ~='=-|'1|m =

Which of the z‘ollowing Salcments pra correct
ﬂ‘\ﬁut Mendel's Monohybrg Crosses?

Choose the mosr Srpropriate answer from the

opti
(A)

(E)

TS FaT ey

a, mqmmmmmm@m
1) = 99 =7 Ty _

b ITEEIwwam 3 TF T 41 Famifer @r
ezpedc £ - .

c. q—‘eaar"wammssarrramwﬁmm

d. mam$ﬁr¢mmmmﬁm&m
]

f;ﬁﬁqmﬁmquﬁmmmm

(A) wada, c 3T d (B) ?F:r?rbaf'r(c

(C) <=la,bafc (D) A b, ¢ 3ffcd

(EJ muﬂ

OPQ-X12 ] jj

Qur:snon ot attermnpred
5T F o o & HEX =T—n:rrr * TR F e §

U eenerie \-:mnun\

30

Meade] s2lected wilg pe2 plant for his

chamcter a; a time,
Meadel*s w, ark was neglected for aboyg 35
zears,
\Iendcl used the word factor for gene.

ons given below:
A candd onh (B)
abandce onh (D)

band ¢ only
b.candd only

Y e B
T o

sxpress itselfin F
The character which does not express

reneralion is called-
(A Allelomorph

(B)  Contrasting character

(C)  Dominant character

(D) Recessive character

$5)] Qucsti'nn not attempied

TS i e otfrere e e 2,
T -

(A) T

B)  fwda o

©)  mE

(D) MEECTRIL

(B)  argefty way

In \\:hich folk dance of'§ hekhawati and Kuchaman
are the instruments dhol or drum used?

Choose the mpsy @pprapriate answer from the
options pjven below:

(A)  Agni Dance

(B) Ghudla Dance

(C) Dandiya Dance

(D)  Kachchhi Ghodi Dance

(E)  Question not attempied

TrEmEw s T 5 e e 300 § gy T3
AT T T By 2
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31 iVen below are two slatements:
. Statement (1): In Rn_imj&lnn Pahuji is worshiped

as the God of Camel, *

Statement (11): Pahﬁji |Ls redited to be the first 1o

bring Camel 1o Manwvar.

In light of the above sl;wmcnts. choose the nrost

appropriate  answer i:'rc}n the options given

below. N

(A) Statcment (1) is.&rrect bt Statement (1)
is incorrect,

(B) Staement (1) is_incorrccl but Stalcment
(11} is correct. ..\!

(C) Both Slntcm'nm@_' and Statement (11) arc

correct. <
(D) Both Statement (1) and Statement (11) arc
incorrecl, oM

(E) Question not atténipted
fRdwwEfameE: O

FUT (1): TS # qrest A Fel FIw HF T
TS ST @ [~

T (11): TRATS ¥ FERqW e a0 =7 7 wregeht

2l Q
TR SR & AeEE] e R e e
waifirs sugew sa i

(A) =9 (1) 81 & ST A (1) e Rl
(B) I (1) Ted & Slae e (1) e )
(©) e (1) S 3w ¥
(@) == (1) 3w (1) I e
() Sgm@ud [~

o
Rulers of the pn'ncclf%ates have treasured the
accounts of their valoEr, victories cle. wrilten by
the chroniclers. What ar¢ thesc accounts called?
Choosc the most ap;lr@pn‘a!e answer from the
options given below: (O
(A) Dawavait (B) Vaat
(C) Khyat o) Vachnika

E)  Queslion not aflempted
%ﬂﬁ#mﬁqa@%ﬁﬁ@ﬁﬁm
=7 sfagraan 2 ferg g, St | AR T
21 57 il 1 T FECE 67
Frferfig Faaedl  ddatads 9gH JCLH:
(A) 74 Cehy =

e i by

(E) wgafEa A :

oPQ-X12 | D

(=
-

34

as

While reciting the had of Pabuji, a musie:
instrument is used ealled

Choose the most appropriate answer from the
opilons given hclnw:'-

(A) Ravanhatha C P] Ekiara

(C) Jamar c(P)  Moochang

(E)  Question nat attenpted

KR, TT HETAT 21 p
53 Fr T et & 6 A T .
(W T (®) G q
(C) it C) w=m

o
E Cﬂﬂﬂilﬂ T
® o

RIICO hassetup @ Jagé%csc zone in an industrial
park in: o

Choose the wmost apprppriate answer from the
options given below:

(A) Jodhpur [.(B) Dholpur

(C) MountAbu (D) Neemrana

(E} Question not attémpted

et (RIICO) I T AT & (§1F), S
o F wenfie fear g O

PR et 3 St
@ I B
(C) TR=IT (@/Q
(E) i@ wa ~

™ &
Which Festival of RajT3than is celebrated on 14

January, on the dayCof Makarsankranti, every
year? N

Choose the most npgz}vpriure answer from the
options given below: ¢

(A) Ballon Festival (B) Rose Festival

(C) Kite Festival l-.LD) Colour Festival
(B) Question nat aepupted

grerear B i o 14 S, TeEssT & R T
P et o gaifires awge swe g
(A) TEOSET o(B) TH S
(C)~TMIFT (D) "IN

(E) orgufewy
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36 Which of the following is not an example of

Physical clinpe?

Choose the poy Wippropriate answer from Ihe
. . o

OPUONN given el

PUONN pivey I'n.lt'l{\_1

(A) Ch'muim, tho Jeolour ol (e lips of hnek-

8w blayle nn\tmnb hieating

@) Formmigy ofubrawnish laver on 1he iran

wales nrnnrl:-;‘

(C©)  CuXing a picce of paper in four square

picces r\

(D) Making q PEEL‘ ol chalk from chalk dust
() Question mﬂ\iumnptcd

FrefoRan i § <o wﬁﬁm‘rﬁaﬁqaﬂww

TE w7

r—ﬁ%mfi—?r%%mﬁa;mﬁmgi
(A) W&ﬁm?aﬁﬁ?nﬁmﬁwm

(B) %E‘ié%ﬁmﬁa’rwﬁfﬂaﬂmam
o~
=50 N

() m%ﬁﬁﬁwmﬁﬁﬁ

(D) wiww ‘%?ﬁ?aﬂgmamqu
(E) SEmiauF

Nature ofmagncsign'm hydroxide is:

Choosc the smasr ?{J}'prapn'are answer from the
oplions given bcloe-\;a

(A) Saly © (B)
(C) Acidic ~ (D)
(E) Question not-<wtempied
e T AL ———

Neutral

Basic

Rl

40

(A) @ (N (B) zenfir
(C) i g (D) grftg
(E) safkany
oro-x1z) [ 2

SUTELR

The process of depasiting a lnyer of zinc on iron

is ealled: o
(A)  Rusling (13) Neutralisation

(C)  Crystalllsfiion (D)  Galvanisation

(1) Question for antempicd
Tt ot ies ) pfen) swr A abEm E

FT o

W) sz N ) s
(C) frrem ! 0y T

(1) orgafar ‘*’%{,-\;'

CAZRI, a research institute in Rajasthan, is
warking on the i issuc of:
Chonse ilie mmtwppmpr!a!c answer.from the
aplions given hCI_}L'
(A)  Camcl rescapch
(B}  Industrial feicarch
(C)  Arid ccosyEtm
(D)  Spacc reséartn
(E)  Question fial attempted
B (CAZRI), Tomem 51w T 5= G
[REERIETE B &)
mﬁm#ﬁmmmw
(A) RW%TFT“
(B) _sirifre

e T wwmfﬁ-q‘?raar
(D)  STafar A

(E) aaﬁﬂmsf\'

Choose a major issuc which has always affected
the agricultural developmcnt of Rajasthan -
Choose the mo.s‘f\approprmre answer from the
optlions given belaw:
(A)  InsuffciedtTand for aunculrure
(B) Lack of Shterest by entrepreneurs of
Rajasthan s

(C) Unpmdlcm\le and ircegular minfall
(D)  Scarcity ol'ictals and minerals
(E) Qll(‘bltﬂﬂ ol mlumplcd

T Eﬁ’lﬁq e
Immnq ff aa'r ﬁfm ) agz

15@?‘1 ﬂaiihm 3"-"1?\"3?1\'?!?
(A) ?ﬁf*
(n)/nmnﬂl fﬁu‘lﬂmfﬁm
ey smnfim a 1\ stfolf agi

(D) wgaik E@‘t & it
(E)  orafe wa

| Conug..,
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i
i
H
l

NGl

orQ-x12] [}

Govardhum Aseanid, hapularly known os *Astoni®
is Nunouns as o

(.In:m:».e |!'.-: most appropelre onswer from the
aplions given below:

(AY  Acior (m m
T nyer
((‘i:; Music Directar (13} Paliticion

Question nut atiemyped

?f:i?lam A F srw am A fem b, T

R i 3 Q watfirs

W fas
) oefm

T ST

()]
(1)

wila R
sai@ s

The Late Jagiit Singh was tamous for which style

of singing?

Clu:m::n: the most appropriore answer from (he

options given below:

(A) Tenore

(B) Ghazals

(C) Soprano

(D)  Woexiern style singing

(EY Question not attempted
m:—-ﬁﬁﬁ&*ﬁaﬂﬁmw?ﬁﬁwﬁ"ﬁ?

ﬁ:ﬁﬁm faspeut B | walfires g I T

(A) &R

A

St

aiE=t ey mad

FFaiRa v

(u)
(D)
(E)

When a ray of light incidenis normally on a planc

mirror. the angle of reflection is -

Choose the meost appropriaic answer from the

options given below:

(A) 90°

(B) Greater than 90°

© 0

(D) Greater than 0° but less than 90°

(E) Qucsuon nol attempted

wAE = qrﬁ'ﬂ'@ﬁm 2t feor wae 3Tt
et & ST ST I BT A T

ar e &

ﬁﬁﬁﬁaﬁﬁmq‘ﬁ wifire I9gE SCL:
a 9°

(B) 90°® Al

(cy o R

(D) 0" s O 90° AT

(c) AR

10

dd

45

. pow P

I'wor plane mierors meet at right sngles, 4 -
ray is incident i ane MIFTOF al a0 anyle of 5,
Wit will b he angle of reflection i, N
second plance mirror!

Chuoose the must appropriate ansver frm e

npliun- given below:
# wae 2 T i @ AT o
uﬁﬁmmmmsn T T AT
hlqmmmmqmtrqrm-rm,,'m o
T
Frerfiafre Frredi & 71 gaTfu® T0gw TS
(A) 90 (3) 1207
(c)y 30° (D) 0
() Question not attempted / A7 77

Match List-1 with List-fl:
List-I
Shupe
0 L
X I1.
¢ I1.
IV. Concave mimor
-1 %ﬁmqﬁr—nmf‘qm:ﬁ:

-l AL

On.

List-I1

Type

Convex mimror
Concave lens

Convex leas

S

T
a0 ' [ Saa
b. X 1.

c. ( TOIIL
d. )

FEa o
EcCEr]

IV, FHEE A
Choose the most appropriare answer fro3 &=
options given below:

mﬁqmﬁmqawﬁmwaﬁ“*

(A a-IV,b-l,c-11,d-111
(@) a-lLb-Mec-1,d-1V
(C) a-1L,b-Il.c-1V.d-1
(D) a-ULb-IV,c-Ld-1
(E) Question not attempted / Nﬂmﬂ
Icguld--
A

e [P
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ATAL Sowy Center jine located in Rajnstlgy {ys

a

Chawe the mypue arpripriate angwer o e

SPHONS wiven below: Y

WY e Grun l‘.-!m‘h.'g;:]‘I level

WY Al e oy L

O The eapiral O Rajagthun

MM Ay WAROr Oilies WORansiing

Y Question no atefipled

TR ¥ 3o D d Tl X R

&-::/‘f?[ﬁ}:wﬁm‘i N3 i Tvge o T
AN WS e

W S =iy o

©) TR A

O TR g !r@'m:ﬂ"?

) Nahmey (\‘JI

The Toll thee Tclr:ph@q umber for Chilg
Helpline® js

I~. |
Chovse the mast appropriase answer from the

Opeians wiven below:;
NG % s a o
= ST o
ﬁ:ﬁa%ﬁﬁ%%mgﬁ;
(CVEES P um’r 1008

) 1o (" 1005
(B} Question nat attempted / SR w3p

. The First National Spactg-'?}jn)- was celebrated on

Chodse the mosr cppm!%arr'nnswur from the
Cpdons civen helpyw:

(A 27% Appug 2024y

(Bl 31% August 20047Y

(©)  20% August 20242

(D) 23™ Aypus 2024 '
(E)  Question not aucrgfp\tcd

¥R U sdafey frag =" I TaTaT T O
Fesiafas e § wgi'yba.- ITGH IR
(A) 2732024

(B) 3 ¥mE2024

(C) 203m2024 (\

U253 3202 O

(C) Jrgafeyy

ore-x12] [T

€9

51

!  human

Which of Ihe following is not a pari of hu
ninle reproductive syslf‘m'l’
(AY  Vasdeferens  (13)
(C)  Seminnl \'c:.-:'c!gyJ)

: i d
() Question nor nrle:fuph. i -
ﬁmﬁrmﬂifﬂa’.\qm&nﬁmmmm T
i (4]
(A) TR e qtmp
(C) {hrmm (D) g afamr

(1) vt wor I~

o .
Which of the lollowny is not a type of tecth in
humans? o

(A)  Incisors ) Premolars

(C)  Pylors g\\ ) Canines

(E)  Question not aempred
h%&mﬁﬁaﬁq-mﬁaﬁzﬁrmmm?ﬁ
=

Testes
Failopinn tubes

~
(A) Fas Ob)  amr=fors
© wEw D) e
(€)  sgaha g C(:l!

o
From the Tollowing lst select the organs of the
human digestive sysidm-
a. Rectum b,
c. Oesophogus M,
e, Pharyny 3!
Choose the mpst apf%prfatc onswer from the
oplions given below:
(A) a,cande only(B) aandb only
(C) b.dand conlyl(D) candd only
(E)  Question not nﬁ?mptcﬂ

ﬁ%@a@ﬁ%mﬁ%mﬂa%aﬁﬁwaﬂ
Ffre:

Trachea
Urinary bladder

!
0. W &1. BEL
c TR Cd o
. i N

A% R e et 3 o I T,
(A) Wn.uaﬂtcd_) Faa 3ty
(€) ﬂrzaab.daﬂrem) T ¢ 3 g
(E)  argafawa
[ Contq, .
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W) o e P fie

Who umong the following was the first Gavernor | 55

ol Rajosthan

Choose the maost approprite nnswer from (e
oplions given below:

(A)  Dr. Ssmpurnnnnnd

(1) Sardar Shri Hukum Singh

(C)  Shri Gurimukh Nihial Singl

() Raj Pramuokh Sawni Shri Man Singh

(£} Question nut allempled !
el § 3 T % wm rad s O
Frefafaa frwed 3 @ Fatfts sogm so g
(A) 3, Tt ”

(B) ®RR A gy fiw

(D)
(E)

U W warg 4 v fin
HART W%

The number of women who have become Chief |

Ministers of Rajasthan till daicas on 1" September
2024:
Choosc the masr apprapriate answer fromuthe
options given below: ' -
1 foa=x 2024 7 wRAH § $ fereet afeatt
e e 4 § FI e 9 a9
(A) 3 B) 4

1 D 2
(E) Question not attempted / 3TFAIE N
Who among the following was appointed the
deputy Chief Minister of Rajasthan in December |
20237
Choose the mast appropriate answer fromsthes
options given below:
(A) Bhajan Lal Sharma
(B) Prem Chand Bairwa
(C) Gajendra Singh Khimsar
(D) Rajyavardhan Singh Rathore
(E) Question nol attempled -
frofafea & @ fea fawx 2023 #, TS|
qqEasA & 9a T e fewa ma an
Freiferfaa faeedt & @ gaifis 9w ST
(A) Mo &t I

™ T= aEr
(C) o= fifw famat
(D) Ugad+ fag Wweg
(E) waf@n4

12

56

57

Select a Rabi Crop grown in Rajasthan:

Choose the mos! appropriate answer from th,
options given below:

(A) Maize (B)
(C) Darley (D)

(I3) Question nol attenpted
TreEar 1 3 Al T T A= Fafa;

Rice
Bajra

Prefafa fraedi i @ A4 T9GH S,
(A) R (B) SmEA
(©~ (D) =T

st A7

In which phase were Alwar, Dholpur, Bharatpur
and Karauli merged into Grealer Rajasthan?

()

Choose the most appropriafe answer from the

options given below:

(A) Third (B) Fourth
(C) Fifth (D) Second
(E) Question not artempled

forer =rewr i ST, e, AT A e 7 38R
TerEar H faes gem?
frefataa fasedr & & =it g ITT miﬁ:

(A) ®) =ad
kel (D) fedm
(E) Srgdiayd

Who among the following is given the credit for
taking Kishangarh style of painting to its zenith?
thse the mrost appropriate answer from the
options given below:

(A) Uday Singh (B) Nihal Chand
(C) MoolChand (D) Chandan Singh
(E)  Question not attempied
ferrg e 9sit = ser St woo W
=1 2 Fr 8 | ol R s 2
Frferfea fredi § & waffres gugw s
. i)
(A) ¥ fee B~ e ==
(C) TEw= (D) ==7faw
(B) gt sx
| Contd...

[P —
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— s s—

Wy has written  “laataan Ky Mwlwan®
(Callevtion of Ryjasthan folk tales)

O the sy SRR Aete aswer from e

OIS wiven Belowes

WY Vijanin Detha W Laxini Ruma

O Sha Ly M NMalehand Tiwari
1 ) Question it anempad

NN SRS (s SESE ET
T T e ’1';?\\#‘

.‘:,_.&.Ta ﬁmﬁﬁ%mﬁ‘h@mﬁmﬂﬁ:
W RSRENn M‘é‘w‘r{‘t

O sias O SEw= s

(B} SyeRerw

Haw many numbers trom S50 o 600 ape exactiy.,

CivISINe by 12 18 and S0

A} Two (B C(Ome

WO Four D) Three

B . Question not amempiod

NS 0TS SRR 12, 15 @20 R

-
BTN

[ 4] o

(&Y B &
O o wF

B SERaE SR

Two yex=x aga, the nverge age of A, B and/(C
WS 22 yearx 7 vears ago, the average age pf B

=3 C was 23 vears, What is the presant ape of A2,

(A} ZSveas (B} 14 wears
©) 16xyears (D) 20»years

(E)  Quession not attempred
SRS ABFNC =T Hiwa g 24 95 7

~3

S 569 B WK C ¥ Swa g 25 et o A B .

(A) 2433 (B) 135%
(C) 16=% (D) 2034

(E) SEaRadvm

The hormone that regulates the blood supar level

in our body: is:

(A) Thyroxin (B) Testosteron
(C) Adrenalin (D) Insulin

(E) Queston not atempted

T TR T o Tl & W =T a1 el

TEEE- e
(A) UEOTEEA (B) RN

(€) @R (D) g
() S ss

orQ-X12] [7]

62

13.

K selive Hissues nres
The exnmples ol connective 188

b. Done
d Cordine nmsele
r from the

n. Nlowd

e Epithelivm
Chovge the mnst approprinfe WNSWe
optivns given below;

(V) ncbond donly

(1 boeoand donly

(C)  aand bonly

() o, bnnd ¢ only

() Question not ntiempted

HaYel Sl ¥ FeTer -

n TR b. 3;-&:;

¢ Uelifmm g0 geieh
X R e e & srrtfires g e
() F=eTa,bafid

®) FTTb.c3d

(©) F=da3kb

(D) SEeTa, bae

(E) ygwite war

What is the percentape of oxygen and carbon
dioxide in nir inhaled by a human being?

Choose lh'c maost appro;m'ar.e nns'wcr from the
options given below:

(A} 219% and 0.04% respectively

() 0.04% and 21% respectively

(C) 16.4%and 4.4% respectively

(D) 4.4% and 16.4% respectively

(E}  Question not attempted *

TIST R ST TR A e wve F it afkc
FIET STRHTTES 1 WRrTT 341 T 22

Frerfefiae faaedt § & waifres svgm o T
(A) T 2126 AR 0.04%

(B)  #mE: 0.04% 3T 21%

(C) W 16.4% 3MT4.4%

(D) AT 4.495 3T 16.4%

(E) rgwf@ww

[ Contd..,
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A\

i
66 Which of ‘h%uowing_ is not an alloy?

Su 1 i
F:mﬂ m‘nnvfi for big cattle (big govansh) under,
L::!tl c mmm!ii\nlcd in cow shehiers registered by
\c stale BO‘{&Jmmcnl is cnhianced from October
2024 as-
N
Choose the ’:-‘?EJ.\‘I‘ apprapriate answer from the
options given below:
(N 62!41«_5; (@) T GSiday
(© Taarday (D) T Sd/dny
(E) Qucsl.}g*:‘_\ not attempted
T T T e Tt e WX 6
SR H I 2024  FrmeregRa A 8-
Fretafas s § ¥ waifes FTgw S
" S
(A 6T @y X68/&A
(C) Ta4 D) TsafF
(B) NIRICNA

67

¢ cost of Tood thali for poor and needy under
yShree Annbiuma Rasoi Yojama', 3 welfare
scheme of Rtlasllmn (ason Scptember, 2024)is:
Choose the ynpst appropriafe answer from the
oplions miveirelow:
Wﬁ'ﬁ'&wmwﬁmﬁtﬁé '
u\axrgaaa:%anaaamﬁaammm

ﬁ-q-?rqadhaﬁtzozﬁﬁaqgmoﬁﬂﬁm
ﬁaﬁﬁﬁﬁﬁ%ﬁ%mm@:
) ?u% ® T2
(C-)/¥13 . © 722
"/(E) Que'st[g')é.1 not atternpted / g 9
g

Choose the most appropriale answer fromi the
options givm_'_i-bc\ow:

(A) Bronzé~] (B) Bress
©) SaintEad steet (D) Caodmium

(o]
®) Queslio nol :mcmplcd
ﬁ%ﬂ:‘l{aﬁn-ﬂﬁﬂuﬁqﬁ%‘z

13

Match List-l with List
List-},

a. Rcﬂc@\ij\n from
a po‘nish,td or
shinygh'rf ace

It
List-11

I. Plane mirror

b, The 1 used for 1L Cancave miror

\ .
an upright image

of an object

c.) The miror which !

always:{orm$

1. Reeular reflection

sumeGized yirtal

and]uqz:} 3%

in\'crtg‘_‘imagc
d. Mirro‘h}scrjin
i 5ul'.1rEachr

and torch

;Efl-lwvéﬁﬂ-‘u%ﬁm ferer

T
p. & qﬂ:ﬂEIUﬁI
it 8
mé’"?}-ra’éﬂ
Vb, R HIAR
fafieres fert

i 8

| o AEEELFES

T ST
SPTENSIT

it

~

4 drewEE il

v. Erecl

-l
1. el 2o

IL. STaAe 240

uL FaEd e EGE

juy
qﬁtﬁr%_la:rrm%

v. TEEET

=t 1 wan e

Choose lhc[c‘gmsr appropriafe anSWer from U

oplions gi\'Erubc\ow
3y Fe e e X
(A a-uDb-v.

%varffi‘ﬁ?aﬂ'g?ﬁmgi
c-1,d-1

By a-U Sl e-v.a-il
©) a-1.b-1v.c-lLd-1
(D) a-1,b-Mlc-1d-1

(E) Question not

e et e el et

Scanned with CamScanner
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70
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71

72

73

Dolly, the first cloned sheep died in:
Chm‘islc the mosr appropriate answer from the
oplions, given below:
it AT el i g ) ey T
RAGEE EEEC pE e ——
(A) 2005
(B) 2007
(© 2001\
() 2003 \
(B} Question na attempted / TRfT wor
Animals which lay cuus are called:
Choose the magy appropriate answer fromeflie
options given belows
(A) Ovoviparaus animals
(B) Invitro fcniliscdnninmls
) Vi\-ip:musanimnls
(D) Oviparous animals
(E)  Question het attempted
R e |
ﬁ%%ﬁﬁﬁmﬁ%mfﬁ:
(A) s Sy
®) W i g
(C)  Feawses iy '
(D)  sveves Wy
E) IITaiews
Identify the oviparous animal.
(A) Dog '
(B)  Human beings
(C) Butterdly
(D) Cow .
(E)  Question not attempted .
HST=F g T GGTH FY
(A) i
(B) =q=
©) fawelt
() T
(E) srgafe a7

74

15

Nome the animal who breathes through its skin:
Choose the most uppropriate answer from the
opiions given helow:

(A)  Filepham (nR)
(C)  Mankey (D)
(F)  Question nal allempicd .

S S T A9 T3y A STy = S i a2

Camcl
Farthworm

Frefifian Fresesi & wratfirar swares e <3
(A) Tt (n)
(C) (D) &g3AT

q=7
(1) 37gafa ya

The price of a commodily decrcased by 10%
which cnabled a shopkecper to purchase 8 kg
more of it for Rs. 3600, Find the reduced price
per kg of the commodity. .

et o R o i 0% B T @
SR 36 T Y 8 Femm s e 5 2 3600 7
@ﬁamlﬂnﬁmﬁﬂ?maﬁ?ﬁnﬁf e
S I A -

Ay T4s B) T42

€ <Tso (D) T4g

(E) Question not attempted / 3T7af war

When 36 is added to 60% of a number, we get the
Same number, Then that number js:

mmﬁ"@n%m%iaﬁﬂamaaﬁﬁq—@

. ﬁwma’ra"r%m#aﬂm%:

{A) 90 (B) 100
© 75 (D) 80
() Question not attempted / ST war

A student has 1o score 40% marks 1o Pass in ap
cxamination. He gets 30 marks and failed by 20
marks. What are the maximum marks of the
examination?
mmm’rqﬁmr‘faﬁmaﬁs%@m% i wy
8 I 30 37 ey & siteas 20 aiaﬁ%aaaﬁuf
& STTer 2, 3 odenr AT 3t w0

(A) 125 (B) 10

(C) 9% (D) 100

(E) Question not atempted / TG gap

[ Conta,.
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75 | Which of e fallowing simements is‘cnrrccl 77  Eiglt fricnds collected money 1o lélp "°0d
about the alluvial soil § in Rnjasthan? viclims. Six af them brought ¥ 3 cach, The
Chuochm tost appropriare answer from the 'iCVCﬂ“l Pe"“" brought 100 70T than lhe
optlont\'cn belows: nvcn;_.:. or cight persons and ““ cighth Person l
(A) Thl‘i soil contains cuough quantity of hrought; '\’1550 What is the lom] sum hrcmg]uhy
nqnben them? N /
(B)  The amount of potash and lime is found m%[%mmﬁﬁﬁ:ﬁm%mmmﬁmﬂ
fes¥ in his soil. T A we T 300 W A T FeEi s o |
(C)  This is found only in northem districts of safirdt 3 i & T 100 3w T 3 M= 'r
[&5asthan, - %550 Tl et Fererft wifr oot iy o
(D) %ln: soil is very useful for the production (A) 1'7'2'800 (B) <2400
Ofvheat, mustard, cottan and tobacco. (C) (3400 (D) T 2500
(E) 6\'1““0“ not allempted 4 (E) Qh stion not attcmpted / 3!3?11‘1‘63!8(
Uﬁw‘{ﬁﬁzwamﬁqﬁnﬁ-rﬁaﬁﬁﬁaﬁqm . ;
1?‘&'&1’.‘%" 78 A I"lmlg;‘:consms of prandparents, parents and I\ 81
quamﬁmmmg?r three grandchildren. The average age of the two |
M ﬁwnquWWW%I grandparcnls is 66 years and that of the parents is
(B) ngiﬂ & dier 3f s @3) T 34 year;zlfthc average age of the grandchildrens |
Ear is 8 yeats] then what is the average age (in years)
© il e gt forelt o T <R Ry of the sg‘vjcn members of the family?
R S 2 21, e e e - i
o g swah 3 : . R R ol g 66 7 & iR AT |
® FgeewE | Sty 34 ) 2 e st s 8 |
N ' a‘n.a’pﬁf&m%mmﬁaﬂwmmw ,
76  WhichSe’not a type of bush found in Rajasthan? ;O :
Choos{:élc mast appropriate answer from the (A) 3?! . (B) 30 82
optionggiven below: © 3.3':{ o 3 ‘ 2
(a) [iha (B) Ama (B)  Glistion nat attempted / STaf wa |
©) Fou (D) Dhaman © ‘ ‘
(E) Question no! attempled 79  The selling price of 12 apples is equnl to the cost i
"ﬂmﬁ_ﬂ":"lﬂqm AT STl AT T O T T price of 15 apples. The profit percentage is: :'
& N , s 12 & G R e 15 it 3 v e e
Prerferfead famedi 54 g SCE: i ST '~
(A) @?‘T By S Ay 2 \]’ (B) 27% | Rt
© (D) T © 5% (D) 20% ', RGS
 (E) orgEfaad (E)  Question not attempted / STt W | R
OPQ-X12 | D 16 [ Contd... ! orQ :i’\:‘\

ZHTR
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Where is the Jawai Dam situated in Rajasthan?

& Amumherofiled wonien daneerr Nalance up 1o | 83
RV 0 nine hrass Py on their head. This dance Choose thc most appropriate answer from the
S i eallag; t~ options given below:(\|
CIN= the st gpp mpr‘r:!ir answer from the (A\) Kona '-{B) Sikar
\\\"\:\\I‘-::.l-“\‘n l\-l\\\\. ey (C) Pali (‘NGD) JJIPUI'

‘L;\ C:“h Tali ‘:;: C \:‘: h;‘“:" J (E)  Question not attempted
\ wN\mar A Kalbelis ” § ‘,_'ﬁ
(Y Quastion notan {mpltxi e - Eq R e (R i
- atwe [y e =,
LR mW‘mn:-" .m.\-‘faﬁf"rvmam-ﬂﬁaa ) Tﬂ} 2 m_tﬁ
Es'\m“\h.‘m_—rﬁﬁw-ﬁww (\) = (B) Hh
ssEad I~ Ty {“jm TR
A= : %
= -mmnm"“'wmﬁm‘%*ﬂrg} (E)  gafe e e
A\ S EEer \B‘i{g‘ﬂ_‘:ﬁg C‘J
L
‘;‘ ffﬂ (D) FTe=ikT & According 1o the ccnsus of 2011 which of the
¢ TRONG NN N following districts hadjthe highest population in
N Riasifion?
. . jnsthan?
§1 Which dance is rerformbd by the Bhieels in &
Mewaso - : Choose the most apprapriate answer from the
options given below:{~
Chovse the mag approprigre answer from the s J': ;{\ .
opHons given belows ™N (A)  Jaipur Lot fB) Pali
) i C( 2
(A\)  Bhawsi Dance (B) A\Gheomar Dance © BII\'!IJ'I.C[' C\.D) wa
(C)  Gavr Dance (D) (\Kalbeliva Dance (E)  Question not attempted
(E)  Quesion not nm.mpm 2011 ﬁwm%mgmmw%ﬁqnéf—
EivE TRy ﬁﬁmm:ﬁﬁh | ﬁ%ﬁﬁmﬂﬁﬁm%ﬂ
m_ﬁﬁﬁiammmﬁz ﬁﬁﬂ‘%waﬁ%a;-qa——n-—;
() R B) _TRIT - SR ~(B) it
N (D)nﬁmﬁﬁmaﬁr © FER  om) w@e .
(E) Sgmiaws E) SRy O
1§
N

C\J
82 Tamasha® is the lamous ﬁ;{k theatre of which | 85 I which of the follomna}earswastheRa th
place of Rajasthan? N T
z 2] State Road Tnmp%t Corporation (RSRTC)

Choose the mast approprigte answer from the established?

Choose the most appropriate answer from lhe

options given below:

(A) Kot B) [™BiL

(C) Ja;::::r {(D)) o\ :I:::::: " optlions piven below:(N

(E) Question not nuuonJ mﬁﬁ%ﬁﬂ’}mﬁmmm

SRR i A1 A T 3 ey e v ﬁnwmsnrcm?mmwrgtnﬂ
ﬁn%mﬁmﬁﬁmﬁ}mmgi

ﬁqi%fﬁaaﬁmﬁﬁwwfm-a;mamgﬁ A
(A) (B) Nt (A) 1962 ‘_lg!m 1964
c
I (D) Sy (C) 1955 (D) 1960
(E)  STgafe s - l (E)  Question not attempied / S7Jafte war
[ Contd...
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86 In Rojasthan, Bisalpur project is located in which | 84 Which of the followings lélars go Mot ety

ol the following nreas? fhe climate of Rujosthan?

Choose the masy apprapriate answer from the Choose e most appropriafe answer from i,

uptions given helow:

options given belaw: 5
(A)  Jaisalmer (W) Udaipur (A)  Wind direction

from the sea
(C) Bikaner D) Tonk (3) Distance fro

(C) Latiludinal posilian /‘

(E) Qucstion not altempled . -
(P) Longitdinnl position

Wﬁﬁwwmﬁmﬁmm

(E) Queslion not attempted

3 fam ¥ Rrerferfera & 281 1 T i e 5
ﬂéﬁqwﬁaﬁsﬁﬁﬁﬁ?ﬁ'@gmaﬁrg% Frerffier =i smeam?

(A)  Jwet (B) Frerffiaa Rrevei 3f & waifires sagw 2 3.
(©) e (D) i _ (A) wEARm  (B) wEad

® sEeiawE (C) ariedm feufit | (D rercra frafer

(E) srgaf@ws

87  Which of the foXowing National Highways pass

through Ratasth N B9 Which dinlect is spoken in the areas of Chury,
ugh Rajasthan state? :

. Jhunjhunu,  Hanumangarh, Suratgarh  and
Choose the mosr appropriate answer from the

Ganganagar?
options given below: ' Choosc the most appropriate answer from the
(A) National Highway no. 2 options given below:
(B) Natienzl Highway no. 37 (A} Mewati -

(B) Wagadi

(C) National Highway no. 11
(C) Malvi

(D) Shekhawari

(E) Question not altempled

(D) National Highway no. 13

(E) Question not attempted

FrefefEd & § S 1997 Ui Tsmn! aoredr T TS & _ . o B
5 ﬁ"‘-?ﬁﬂgﬂ‘m‘ﬁ-waﬂtm%mﬁ: ;
e T & el e st e 22 ,’

ﬁ”ﬁvn@afﬁﬁeﬁﬁﬁwmfwmmfﬁ mﬁmﬁﬂwﬁﬁmmm s
(A) Wmm (Ay Fardt ; § g
(B) ‘{T!;ﬁ'dmffm-:ﬂ (B) . TE . g “ I'
(C) U e deAT - 1) (C) e Y . A %g{;
(D) TS T e - 13 \_Q)/ﬁmﬂm i e
® wgafana (@ eRkeras g &

8 [ Cong:.

orQ-x12] 7] - Ut
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Wmang

ey

_
B .‘-::\o-- - ¥ s
DRSS CRaeihit i Bk during e

Paady, IL:‘onn'\x:hn Nefore which

Choese ¢ ey 2
\ UN Emng SRR answyr thom the
RN S Nelew Y

(X
(M
=N

-\

| =

Diwaj Y
NSRS N
Dy ()
Hol

Quassion nae Xrenipoad

._—-—_?—.—‘-—.___ 5 A .
e T m.N\‘,q‘—\%“ hﬁmﬂ.m.m

- - - P [
A T== N
S == N
L)K?!/";\l\“u ©
1D} ':"“:t_:::'
3] :“‘-_;:'-T‘EE‘ ({;
-

fI W= orae :"o!lm\{t:"g' rair of poulery bird and

B cx_f.:.jvd_v marched?

- LY
oo 92 mow FPPpridie answer from ithe
CpZoms ghaeg balowsy

(3)

(3)

(C)

(D)
(E)

CARISONATLY- Commercial Brown Ege
Laving Chicken

CARIBRO \iSHAL - pua Purpose
Chicken

CARI DEBEYDRA - Commercial White
Egz Lavisg Chifthien

CARI PRIYA CDuat Purpose Chicken

Qusstion not :;?mptcd

f—?—%ﬁsaﬁ%ﬁra*—@_m?sﬁtmﬁﬁﬁm

ﬁ:‘%ﬁaﬁ‘mﬁﬁ%:@mmﬁ

(A)
(B)
(©)
(D)
(E)

orPQ-x12] 7] (

%ﬁﬁm-wﬁwmﬂﬁfﬂ
STl

-~

ﬂ__J . o

19

93

Which of the following pair of pouliey bird and
. v el
its chameteristies iRbr correctly matehen

P le
Chovse the mast apprapriute nnswer Irom

nprions given lx'lm!'::.,"

(A) IITCART - Unproved Indigenons Fowl

(M CARIBRO @ITTUNJ:\ Y - For haot nivd

humid region

(C) CARI SHYAMA - Improved Indigenous
Al
Fowl cy
(M UPKARI- lﬁ)ilm\'cd Indigenous Fowl

(n Qm‘slinnnul_'npcmprc:l
PRI & e G et ik sweht e
I3 T et Pt e et 2

Frefrfre et 491 wElfiE Iugw 3 -

AV %mfr.m%wyﬁ

(B) %ﬂa}ﬁafﬁ#aﬂraﬁ%ﬁ'%%n
(©) %ﬂmaﬁmyﬁ
(D) MW%%QW
(E) Smitewsr
r‘\
Which of the fcllo&img isa maziet/shepherd of
Rajasthan? |
Choose the muose %;émprfme answer from the

options piven belowt]

(A) Raikas D(B) Gujjar Bakarwals
(C) Gaddi [ (D) Dhangars

(E) Question nné};ﬂ:mpw}
Fraferfgm & & w30 weresm s wam by

LX)
€ mh (D)

(E)  srgmfawa

[ Contd...
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94

95

Which of the following is not an exotic breed of

cattle in Indin?

Clhioose the most appropriale nnswer (rom the
aptions given below:

(A)
(N
©
(D)
(E)  Question not attempled
Erfafes § ¥ viw ¥ -6 REEE AR FRA
T T

Rt e § & warffires suge SO g:
(A) TS

(B) SeEdR-WwERE

() ==t

(D) wew S

(E) STwiw ¥

Kankrej
Tolstein-Pricsinn
Jerscy

Brown Swiks

Which of the following type of animal is
supgested minimum floor space for huusingl
purpose? )
Choose the mast appropriate answer from (he
options given below:

(A) Adult Cows

(B) Adull BufTaloes

(C) Heilers .

(D)
(E) Question not attempled

Frfates & & e wamc e 93 3 o mam v
& v o T T g A T @
ﬁnﬁﬁaafaarefﬁﬁimff‘mwgmmg%
(A) Ta=ETE

(B) aOEs

(c) afear @)

(D) TIZATE (1A F1IN)

(E) W{af@wd

Down Calvers

orQ-x12] [T]

%%

97

20

r

/

Which one ol the Tollowing ln v figy, g
]

privwn?
Chaose the mast appropriute annwer from
]

optlonn glven below:

(A Cutla catla 4
() Apix melltforlo /
(C)  Penvans monedon

(1) Macrobyacllom rosenhergll

(1) Question nol nitempled

RretRaftar it & A srermier = w1 i b
v by |

Rretffer Rrred! i  waffires sags zm 3,

(A)  FoereT- el
) AN
() WRFwERIEH

(D) e terrart!

(B) ovaf@aaa

Which of the fofowing is not correct about'
CARI-NIRBIIEEK? _
Choose the miost apprapriate answer from the

options given below:

(A) Itis asingle coloured indigenous chicken.

(B) This chicken is for cgg and meat
production.

(C) Mltisa result of Indo-German collaboration
project.

(D) Ficld evaluation done in Rajasthan and
Punjnb.

(F:) Question not altempied

et & & & foffa & @i FH-A1 TF

LHE R

Brrrfiaes sl § 2 watfrs 99gw S :

(A)  TE T ararh i

(B) el afE sfefte gt See & fag L

(C) u® VTG-S BT R <l o 81

(D)  TroTEuT YT Serrat 2 & [ o6 T

(B) Sgafmww

[ Contd...
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wedar

. sasthan
98 Which of the following is 1ruc about CARI | 100 On which accasion do women of RaJas

PRIYA? - “Lahariya Bhaant Ki Odhni?™
answer from the

Choose the ™ast appropriare answer from |he Choose the most appropriate
options given belgw: aptions given below:

i . child
(A) Commercially Brown tigg Laying Chicken (A)  Diwali (B) Birthofa

(B) Commcrciaily White Egg Laying Chicken (C) Iloli (D) Tcej

() Question not attempied

e Y e, frg st gt et wia

(C) Commercja) Broiler Chicken

(D) Dual Purpose Chicken

(B) Questi o
- ucstion not altem ted o - =

PrfiRem 3 § . - TR R f & v sagen 3w 9

q o » . 5

S FE-ET Y 3 By FanF wh (AY Feareht - ®) RgE
A.’
* © of )
ﬁ“—‘-na&g—crﬁmw%ﬂaf&mmgmmg%: ©(B) Srqufmwm
(A) qlﬁlﬁlnhﬁm'%ﬁ%aa’ﬁ’rﬁﬁhf
(B) mmﬁﬁmﬁ 101 According to Mineral production in Rajasthan
-~
©) Eﬁﬁﬁﬂ"mgﬁﬁ during 2023-24, Rajasthan is the main mineral
“a - r L producer in the country for:

(D) <TEX ez =Tt vt -

R Choose the most appropriate answer from the
(E) STEwfEwT L

= options given below:
(A) - Sillinianite
99  With which occasion is the Kachchhi Ghodi (B) Diamond

dance associated? (C) Lead and Zinc Ore
Choose the most appropriate answer from the (D) Vermiculite

! options given below: (E)  Question not attempted
| (A) Holi ‘ (B) Navratra . TTEI WIS IR 2023-24 F FER [0 T %
(C) Teej (D) Marmiage :?mq‘ —_ uwww T IS '
:.’ (E)  Question not attempted b &qm et 4 s s gt
( w21 9Iel I Fob sraa @ weifaa &2 N R
.\t fereredil & @ wralfiras soge s g: @) s
: et @) =T ! /l/(;:)/ " aﬁtﬁﬂiﬂ.

L W (D) Frmg (D) TffEIE
( (&) @ () orgefwx

|
10PQ-X12 ] ] 21
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|

) or o Gold Medals won by Indi, .|
02 Bhilwara ity of Rajasthan iskmown for —— tod e e |d at Pari f ) )
102 ilwara CHy . ; + .« 2024 held at Pans was:
- Wic most appropriate anewer from the paralympics 20431
Choose \he mos b

S |
N < the mogt apprepriafe aMSWer frog
options given below v Choo $ty &

(A) Cuy of textilesand loains options piven bL(lﬁ\\': |

L e . - - .
tB'l Lead and Z\ﬂC{F}\"\l\I\-“N\ Q’uﬁﬁm. m 2{'-_'3. T I AL qﬁ NLe=r E‘a{
) GoWd and Silvee ymlm:'.iun g & Ej |

(D) Cememt lndus{lf_'_\f '

Sy faared & Faffir ST I, |

|
- !

(E) Question not atempted

ST A
Trerar = et ¥ W 13 o
t N & By 6 E':)]
iﬁﬂiﬂﬁﬁaﬁﬁ?ﬁ/ ' 3§ el Sug g
s o > L(;)/? 3
LYy == v i IR N
(B) o ik fw SaRT o 9 X
(€) *anfa"’\taﬁr%éwm (E) Question fiot attempted | FEATE T
D) dR=IU |
i\-‘_
® TS }.:E | 105 Whoamong the following isthe first Paralymp=
= 10 win two Pam]yrppic Gold Medals?

103 Selext the folk dageé of Rajasthan which is

Al
ol . . . pose th t ropriare. answer from e
‘popular for cntcrtn{l;:?:cnt and raising social Ch ¢ ma{hnpp pn

issues. 2 : options given bc'lg\v:

Choose the maost approprialc answer from the (A) Devendra Thajharia

options given bclow:‘ ‘ (B) HarvindeySingh

(A) Kuchipudi EN ©  Sumit ‘\“'%l .

®) Gene . =2 @) Nitesh Kifmar

& K?lhpullt danc{:;:x (E) Quﬁliont;\\jm artempted

(D) Giddha PR ney ) -

(E) Question pot dftémpted ﬁqﬁ%m&%\hmf@a@%qﬁmifm

e i T S 3 T R R IS e R R R

g A gt i:@vmw“iﬁmmm-w .

®) N ®) W

et o ﬁ I (© EF““W‘% T .

oy fr=a o @) Frow . o

(8) IAfERA (® ormhaTx |
orQ-x12} 7] - 22 { Contd— eq
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e Sha Raivwandhan Singh Rathore, Sponsperson
| rd palisician, excelled in which spont o

Obupic level?

Chooe the mage arpropriate answer from the
opsons wiven Below:
(AY - Shooting
(B Hockey
(C) Long Jump
I Vollevdal
| \BY Quession Ot attempred

- e A
NISES S wkw ﬁﬁEngTﬁitnaﬁﬁﬁraﬁt
=  w, o
SRS ST QNS m\"?i‘ertg-.a' Nesiy ey ©
= LN - L "
T la-hﬁuﬁ‘%n"caﬁam‘m‘ﬂﬁiniﬁ:
-~ -
/‘\ = ~
FRUIRSST (T

(D)

(t) SEERG S

@m&bg to

districes of Rajasthan had 1he lIowest

the census of 2011 which of the
Qllowing
=mal s2x ragg? .

Cooose the rmosy aPpropriate answer from the
CPI0zS piven belows

(A Jzloe (B) Dholpur
() Pal; (D)  Sikar
(E)  Question 0ol 21tempted

2011#ﬁa:w:=1%?aqgntunnamw%;ﬁm?ﬁi?ﬁhw
f&é%awsnﬁhafﬁﬂﬁfna=qyawaw?

,' ﬁ:ﬁqﬁaﬁmﬁﬁémﬁwmmgﬁ:
(A) SR Lgif//;hagr SQK{}

f (©) sy (D)  Siwx

I (E) 3Iefawy

] ‘
!I)P(}JKIZ I [::] 23

108

Which o ihe following districts or Rajasthan had
the highest child sex ratio, according to the census
of 20117 '

Choose the mpss arprapriafe answer from the

options piven below:

(A) Jodhpur

(B)  Jaipur

(©)  Ihalawar

(D)  Banswara

(E)  Question not atiempted ‘

20::#ﬁsnnmﬁnaamganrﬁnzn?an;nﬁﬁﬁsana

'@W_amﬁm&n%@ﬁﬁmm?

options given below:

(A) Barmer

(B)  Alwar

(©) Udaipur

(D) Kota

(E)  Question not attempted

20T S S & arga TSNH T waifus
:nﬁtwtn&nararzn?ﬂfé?nzﬁtn¥ntn?
Eh#%ﬂ%ﬁ?ﬁhﬂ?ﬁi?ﬁwnyﬁﬁavaugisaatsfh
(A) =

(B)

[ Contd..
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1o g
[+] i H
me frops yse which special plant's pocke
Water for laying their cpes? '

Choose
the mes(-appropriate answer from

NG

=

)

Il

FA
FEAL

p—
[N )

OPlions given belav:

(A) Bramelia, |
(B) .'l!c:d.z‘mrsv@;ywrﬁn‘ml'k' : r =
(] Ralanchiolunarg g: g} l}
(DY Cactus o ]
(E)  Question not attempied u —g
7 3R 2128 5 ot e e e
ST RS T 0y =|=.
Fremfeion st} & waffires T et o
(A) ErfTee g ﬁ}\r::
(B) I UEsT

© *-éa-rﬁ:% =T
- _%v_fa E=Cuin
(B) SFeimwg~ B::

g'l . ; >
111  Which one of leeqfollowiug bufTalo brccdsb___'lg n

mainly found @N\Calf Rearing Centre, Dag.

N
Jhalawar, ijﬂﬁ?
Choosc the mosCuppropriate
optiaas given belows:

(A) Bhadswari™

(B) Jal'l'z!zba.dg

(C) Mehsann (N

@ Muman O

(E)  Quecstion npganempted -

Fofeias 7 & S5 A=-H7 T6 17e w9 8 5o
e =, 2m, W,mﬁﬂﬁmﬁ?
Freiaien fawey § & waifis soges swogs:
(A) wamg O

(B) <TEUER] g‘} -

©) ¥ewvm N
(D) T g‘
(E) sgafeawd

OPQ-X12 ] D

answer from ghef

24

113

.
it
|
[}
[

Who ameng the followine ¢
wng the Mowing Vimove Rajachas;
trole in Nasen

Avand winingd #lm “Paan Siney Tomar™

b=~
i
I
actoe played very importan . l\
8
Chovse the :

ke

r .
m&!; arpripricte 2ever from e |

options given bejow: }

1

mq’ﬁﬁﬁ:‘ﬁ“ i
ﬂ%ﬁqwﬁwﬁammw=§

\
(A Goverdhdh Aszani l
o ‘
n viku Shan!
(BY  Kiku rt:\4 a '.
(C)  Kamamvter Choudhary 8
(DY Sahabjade Irfan Ali Khan !
(E}  Questigr-not atternpted 1
Frifein & fif v vesam svm S s |
an%%m%swiﬂ? 1
|
\

(A TiEds WETET ]

(B) =g Wt 1

(€)= SRwT
L)) =

(E) wgmiater i
N -}

|
Which of the following is not a reason for waze
searcity? o

Choose the mosr appropriote answer from the |
- - p "
options given bejow: '

(A) Space £2arch H
{B) Global &.}Imﬁng ‘.
(©)  Risein population |
(D)  Deforefilion E
(E) \

Question not attempted

-

RRRAA LS C LT S,
(e Siio ﬁﬁﬁﬁmm&mmgﬁ:
\) aiﬁfmﬁ;im

(®) s zwoen
© Efwmﬁ'aﬁ
(D) e, 4
(E) ¥yefwwy

| Cantd...
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114 Which of the f‘ollmving repions of Rajasthan

_IC

.shares its boundary wiy, Pakistan?

Choose the mayy appropriate
options given below;  (
) Chuny [IKE_‘]
() Bikaner (l)(:: Pali

(£}  Questian ot alenpted

e ﬁmwnmeﬁrr-méﬁmﬁmné:
RARRRLALIE £ Ty

Freffen frredi 3 W sy T

answer from he

Bhilwarn

ALPR: Ll (R Micwrer
o’ RIS ()
() Nymfawy )

N

115 Which of the I‘ollm\-ing l‘-u\:'ions is located in the

116

southemn most pant of Raf:} hon?

Chogsr: the masr appm}:—’ atc answer from the
options given below:;

(A)  Ajmer (B)  Rajsamand
(C) Churu (O} Banswara
(E) Question not altcm%'

[El SheT i o %ﬁﬂgﬁn%mﬁuﬁm
Si=Ee o)
%Wﬁ%wﬁmw\wmﬁ:

(A) s (BN ez
€ == (D)2 Figarer
(E) safauw

r~

In which of the following Seasons Raikas follow
cultivation practice in thdirlife?

Choose the most apprepriate answer from the
options given below: 0
(A)  Winter o
(B)  Throughout the yeiD
(C) Monsoon
(D) Summer ~
(E) Question not attenfpied
T 9 S F @ it 4 frg ek
FTHED o
Freferfan et & & s fferas suge am g
]
(A) @@ mﬁ‘ | T
(C) ==EA (1) fim
(E) o gy

orQ-x12 | D

25

117

118

Banjaras, a well-knawn group of gruzicrs were
found in the viiages qis
Chaose the mast npﬁr!pr!mc answer from the

oplians given helaw: o

(A)  Goaand Maohafmshira

(B)  Karnatakn ang E(\srnln

(C)  Rajasthan and Gitar Pradesh
(D) Assam and Nagalamd

() i Question not nﬁs\fnptcd

Tard g EEa N

(A} ivar 3P mgmran
(B)  Fifesh 3R e
(©) T I vy
(D) smwaf

E) &

Pastoralists/shepherdlimar; ly depend on which
of the following nctiv@s for their livelihood?
Choose the most 4ppropriate answer from the

options given below: [~

(A) Anima] Husb:u%ly
(B) Fishing N
(C)  Agriculture N
N
(D} Industrig work{y]
(E)  Question not nl%lpled

ety ngfcqghr{m TR ¥ e
iR & fo FegRifae 3 & few w fnk

w <

Frafafaa fﬁmﬁ&%ﬂmmmgﬁ
(A) R é\dl) WO TR
(€) o Qo) i wr
(B)  orpafayy

e et e P et
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19 Mi‘-lch LiS]

-1 With List)

List-
List-11
Ornumc
a. Thussi s Wearlng Part
i
L Finger
b, Borla " - E
. iar
s D
. fmna M. Neck
‘ = :-hi‘-nlc V. Head
S S S st 0w frems S
beial
18
b.
c.
d

Choose the most appropriate answer from the
options given below:

== T fowet § S waifde S9gm Sal g

(A) z-IV,b-T,c-M,d-I
(B) a-Lb-MLc-LId-TV
(©) a-Lb-IDLec-OLd-IV
(D) a-Mb-IV,c-Ld-1I

(E) Question not anempted | A A

-

120 *“Mzndan2’isa waditional folk art of -
Choose the most appropriafe ansSwer from the
options given below:

(A) Goa (B) Maharashtra

(C) Rajasthzn (D) Kerala

(E) Question not anempted

sgqiear Th qruitE 1 FAT &

frefataa et 5 & waifud agw T

(A) T (8) Heraw Hl
geeEd (D) FEH

(E) FFE@A

orQ-x12] [T}

26

121

122

123

Vijaya Stambh (Chivtorgarh, Rajasthan) is a g.]}
staricd pillar made of: |
Chonse the most approprlate answer from the
aptions given below: ‘
(A) Only Bluck Stonc
(1)  Only Red Stone
(C) Red Sandstone and White Marhle
(D} Red Marble and While Sandstone ]
(I5) Question nol attempted ‘.
9 rifen nfrater frm = (BT, TEET) |
Pt 7T 22 '
Frfifa ferresit 6 & wraifares aqe 70 T
(A) A A 5
(B) AT AT et

(Cy I A T AT HT WA
(D) e ST AN A A A

(E) SAaiaaa

In which month the festival of Gangaur is
organized?

Choose the most appropriate answer from the
options given below:

(A) Baisakh (B) Shravan

(C) Falgun (D) Chaira

(E) Questionnot anempted

ST 35 R 7T SAe R HTE 3 € 62

- w

Frforiae et 3 & gatfis 39w 39 %

(A) “Er@ (B)
(C) TIEH ==
(E) miawd

“Talab-e-Shahi' lake is located in which of the
following regions of Rajasthan?

Choose the most appropriate answer from the
aptions given below:

(A) Jaipur (B) Dholpur

(C) Udaipur (D) Komua

(E) Question nol attempled

Erffian & @ Fem a0 & e ARt

i Hie fem )
. fefafaa ﬁmﬁﬁ&waﬁ&mwﬁﬁmgi:
(A) A (By” W
(C) =X (D) T
(E) :ﬂgﬂfmnﬂ

[ Contd...
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s A St .
1N \Vhamdag \-&'..\‘\ AN i QAR ) . ‘ .
X VAN et o126 Whatis he least number which shoull be ndded

R t\\!!\\\\i?\\. St o 2028 <o that the resulling number is exactly
VNS AN peng PR answer o the divisible by 3,4, slang o

TR gt t‘h\: ALM R A ERT ".'ﬂ!j UK dom FE) s mfs
WY Maizga Poantadun Ratasthan Wi vem 3, éqm 6 0 ol Pt 727

BV Maia P N Guarar OV "\" n 12

WY Rl \%c@\:ul < 2 :“l ) 7

WY Heang e Ryt ¥ () Question notanempied / S v

W Qe anenand 127 l
=~ =T What is the smalld3t five di 3t number which is
—\gnﬁﬁﬁnﬁ?ﬁm*}%&:m‘fm i =

S S mcn:\- divisiblc hg;i 6. 20 and 242 )
i e uhmﬁﬁmmamaﬂm.znaﬁu-m
=R -\%Rsﬁx\s.—wgmmgiz iR fvrs 2 1Y
LS g e ) i
( =ERnak R (A) 10060 N (B) 10080
= e e Y »
(2 ::;:s;\-,,\gsﬁ (© 10160 3 (D) 10800
© “‘—\:;7...-:-,;‘;;33;,—6 (E) " Question not attempted ! ST w3
IR SSE R et f:
& ==X=sv g 128  Detenmine the mn&r:num possible length of the

~ planks that ean be ¢u} from three picees of timber
nicasuring 1.2 m, :1:3 m and 6.3 m. all of which
‘'should be of cqunlll-{;nglh.

o A R wEE T S, TR
4271, 4,97, 3R 6.3 o S S A e e

- . S . .

rha Golul Misdaa® i associated with:
'

N 2R = SfPpupricre answer from the

orSoss given belows O

(A A=ty of Fimance mm%mﬁmm%

(B)  Mizisery ot‘Fi&'?‘éic& Animal Hushandry @) 63em @m-,tc_;{ ®) 70 em @
=d Daining O © 2em@MS (D) 56 em @

Q) .\tk-.i.\;-.\-;-r:us%rj\\fs (E)  Question no‘t::l;tcnlplcdf AR TN

(D) Miztsry of Wendep and Child Development . o
129 A shopkeeper purp_h’nscs some apples av 31 for

oJ
E) esti0n not amempled
( N = T 100, How many apples for T 60 should be sold ‘

u-_f,_n- -.‘.qm :ﬂ[-l ﬁmﬁ Fl-ﬂu.’ ﬁ?
Fiena e X @ Eaifie qoge sog:

Io gnin 64387 ™~

qmgzmmﬁgmﬁ! 100 § 41 ¥ wra @ @i

(A fesEew g‘ Mgaamamﬁ%iﬁ!?:’ﬁ? 60 X fr 7 I
(B) =TT, TG ¥R Tt darerw ifw 0
(€) WWWEHISY| (A) 14 N oy s
- - o, t\*
(D) m@mﬁﬂnw © 12 ALY
(E) @IS o (E) Question nul':iuumplcd 1 JTTaiT 9
OPQ-x12} 7] 27 {anisa

. —
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130 o .
n selling an anticle for T 230, 8 s‘lmpﬁ'é'r!z‘r‘!

cams
$ 0 profit of 15%, What is his pmfit of T
percentage if hie sells the same article for '\'ﬁ

(A)  10% profit ==
(@) 2% loss d
=
() St prafit i
=

(D) 7%6loss m

(E) Question not attempled 1
T T Y 230 F I W T 15’“"&’%
e N TR T TG R 210 % Semil

?ﬁmﬂaﬂmmﬁwmww <

(A) 10%T™ @ﬁ
B®) LHTFH : ‘_
(C) 5% =
@) 7% TFEH |
() SEra A a

131 A shopkeepet gives 0 discount of 8% ta*hisz|,
===
customers and still gains 20%. What is the marked

N . . o
price of the article whose cost price 1S T 4607 mﬁ

4

4

3
3,
‘,;b
g
o
1

(!

g R F A% 460 %2
(a) 580 @) 550
(c) <500 (D) 660

(E) Question not attempted / Sypdf@ 94

132 Find 3 single discount pquivalent 10 successive

discounts of 10%, 20% and 25%.
10%, 20% afltﬁ%aﬁlwﬁﬂ?qziﬁqut

= =
(A) 46% (B) 48%
@© 5% - (D) SA%

(E) Questionnot ptiempted / it 44

oPQ-X121] D 28

135

l

In an clection helween (wo candldares, ¢
\ '+ YA
voters didl pol east their vates and 120 vatey v, !
" Werg

Jdeclared jnunlit oF the winner gets 75% of yp,
valid volcs anil wins hy n margin of 1800 vatey
then find the aumber af vaters in the vating lix,
ﬂaﬂnﬂttrﬁ?ﬁﬂ“'lfﬁir-ﬁﬂﬁm%mi
avma'ramﬁmﬂ:ﬁt 20 @tz 3vinT i Py
e mammwmxaﬁﬁmvs%ﬁam%ﬁnm 1800
uﬁ%aﬁﬁﬂﬂmﬁ.ﬁmtﬁﬁﬁm
£ e 7 AR
(A) 1650 (B) 4680
(C) 4500 (D) 4590 i \
() Question not auempted | STqATE W7 1
|

On simple interest 8 certain sum becomes T 9300

in 3 years and % 10, 500 in 5 years- The principal !\

mﬂﬂaﬁmﬁﬁfmuﬁsaﬁﬁz 9300 K |
saar AR w.souémfﬁ%w?mgrtr&r(ﬁ)%: \
(A) 7500 (B) 7800 i
(C) 7000 (D) 7200

(E) Question not atternpted ) S W

1n how many years & certain sum of money will ¢

become four times of itselfon simple interest otd

rate of 20% per ponum? '1
(A) 15Years (B) 20Yens i
(c) 10Years oy 12 Years

(B) Queslion not attepted i

maﬁﬂﬁmﬁwuﬂs\m‘
Ay 15 @) 20¥ _'
© lox o 12T ‘,
(E) Orguie ¥
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16 Which of'ihe following Nationnl pirky 1y siltnred

ER
=

Which movement was led by Sadhu Sitaram
Dns?

4
1

in Rajnsthion?
m Rajnsthon? %

Choose the moxt appropriase answer from (1,5

=

Fl

Chaose the neaye aparapriate nmswer from the

oplions given below: aplions given kelo:

(A)  Keoludey (M) Knzlmngn : E (A)  Bhaga
(<) Bamdipur (D) St Ghai C (‘P () Non-cunpcm[ion |
L " .
() Question not attempted fL | t’; :g) Bijolia
: i RO ) Shekhawati
ﬁq%ﬁqaﬂ%aﬁq-mmmmmﬂmﬁe 7B ] .
g am{iZiem * Questior not attcmpted
) ~ . QUT ?‘THI qma'fm?ﬂli‘lmmqqa Frar?
ﬁqﬁ‘}mﬁ%ﬁﬂﬁwmmmaﬁ; ’*‘-';;, Fefafag Wﬁﬁmfﬁmmﬁ'}:
A Faeres (1)  wron fm (A) T

{B) stEEanT

{©) wae (D) waeme wzf; )/
fersfiferar
(C) SeRaww {2
(D) TrEEE

‘]

qﬂ: e .
rohem () FARE S
I37 In 1800 AD., the first person. o call present= B
B - - q ﬂ‘
Rajasthan region Rajputana was . w»‘?ﬁﬂ In western Rajasthan hot dry and dusty winds

Choose the most appropriate answer from the,] &  start blowing in summers which are known as

£
oplions given below: e
(A) Hackeit . {9 Choose the most appropriate answer from the
@) Allchin options given below:
A} Loo .
(C) Georpe Thomas i
(B) Monsoon winds
(D) damies Tod ; (C)  Kaal Vaishakh
(E) Question not altempted (D) Mavath
1800 $7ei1 T 21751 3 TTEGT 1 TGS T AT (E) Question not attempred
o =Tt i _ it T A afer g F e ol o o
Fresferfaa faaedi F d aatf ougm e g ) RO e O Ok & e &
- (A) BEE AETleTpa faeme § ® waifd Eﬂgﬂ?ﬁm?ﬁ:
(B) .
s () W T
! it oo . (C) Wt dmma
(D) T=HIE (D) WS

(B) orqeRa w7 (B) igeia s
orQ-xi2] 7] 29
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140 i i
Which of the following river in Rajasihan is not

associated with the Bay of Ben
System?

Choose the mosr appYapriate nnswer from the
options given bc'lnwﬂ

(A) Banas c (B) DBanganga

(C) Chambal D) Luni

(E) Question not glititmpled

Trereur | e i & - ) e <A are) sTyeTe

gal drainage

GERR:CIROE e
Fr=fefan faereal ¥ % waifire suge svg:
(A) =T [NB) AwEm

(© =« 0Dy
(E) qeiaws cc'::

141 Which of the I'ollm&g animal product contains
the highest amount (§s]nutrients) of protein?
Ghoose the most afpropriate answer from the

" options given below:
(A) Fish  [~B) Meat
(C) Milk(Cow) TYD) Eeg
(E) Question not &ttmpted "
Frferae 3 foow U5 e 3 W 4 s
AT (% S Te) B8
Friatan famedl U @ FJaiitrs S9gT I g

(A) ot CB) Wi ()

© T (@) =
(E) IEORasd [~
4
042 Which of the follo animal product contains

the highest amount &-of nutrients) of fat?
Choose the most appropriate answer from the
options piven bcluw:'}‘

(A) " Epg (B) Meat

(C) Fish () Milk (Cow)

(E) Questicn not f,upmplcd 3

fretarad & gy IR T0 A FEiR

AT (% Wrae ) Edlie? )
Prefefen faaedl § @ walfts 37gm It g
() T Chmy st (i)

(C) wasdl E,Z?D) 4% ()
() ¥IORawd

143 Which one of the following lalian honey p,,
varicty is nssocinted with increase in yiely at

-

honey? t_\
Clinose the mast lﬂ;pmprimc answer from (h,

optians given belay|

8| )

(A) A cerana A. florue
(c)y mufhﬁ-rrp,l (DY A dorsata
(E) Question ndtAtiempted

Frefafas i & s mmvedt S S waf

Pt et A R T es 3
[ - 8

() wwmm ¢ (B) T 5T

(c) udefET cc‘:{ (D) T Zw@wE

(B) STgmf@@¥a gy
O

144 The ratio of the presentagesof Pand Qis5:7.1f
Q is 4 years aldef than P, then what will be the
ratio of their ages fler 4 years?

P 3T Q  FdHH G =T 3 5: 7 21T Q. P
ﬁ4aﬁm%,ﬁ4%imaﬁaqarww
L o)

(A 7:9 Q@ @ 4:5

(C) 3:4 D) 8:1l
(E) Question n(!([.?lmemplr:d | STTE 9
(an ]

145 A sum of T 2400 {3Hivided between A and B is

"such a way that %iol‘ A’s share and %- of B's
share are equal. Thtkhare o B is:

T 2400 1 A 3R % i 9 yeR A e

A 5 T, B % 5 e Faom p F i

-

ol
(A) T 480 )
(B) T 800 E\\}
(€) T960 o

(D) T1d40 Q|
(E) Question ndAuempted | STFRT@ I

orQ-x12] 7] 0 | Conti-
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W6 What number should he subtmeted from enely or

147

numbers 6, 8, |2 md 20, so that the resulting
numbers are iy Proportion?

6. 8 12 3R 20 ¥ T 3 7390 v e S

R e oo viceand v i
Ay 3 ! :

m 1

© 2

D)y 4

(£} Question not atiempied / el W

Where is the ‘Tripur Sundag Temple* in
Rajasthan located?

Choasc the most eppropriate answer from the
options given below:

(A) Sikar (B)
(C) Banswara (D)

Bikaner
Churu
(E) Question nol aticnipted

TRET g SRR o # el e &
PR el 1 raifires sugm s g
(A) === (B) R
(C) SrgaST ) (D) 9% .
(E) =mitaws

148 Gogaji's (a folk deity in Rajasthan) father’s name
was:
Choose the most appropriate answer from the
oplions given below: .
(A) AranSingh  (B) Surjen Singh
(C) Bachchal Singh (D) Zewar Singh
(E) Question not atiempted
TS (e § U i 2ae) % Reed @ A
9qT:
Pt faded & & Faffia sugem smogs:
(A) = fiig (B) 7w fiw
©) =wwwfis (D) Facfis
(E) sgafmwy

OPQ-x12) D

ESrara. .

M9 Wha was the first woaman from Rajasthan to be

150

arrested  during  ihe freedom  movement in
Rajasthan?

Choosc the s approprilate answer from the
aplions given helows: .

(A)  Janki Devi Mandey

(B)  Anjnn Devi Choudhary

(C)  Sita Devj

(D) Durgavali Devi

(E) Question not attempted

mmﬁﬁmmm%amﬁqumm?ﬁ
TSR = W Afgar £ o7
ﬁtﬂ%n’@wﬁmﬁﬁﬁmﬁ&a;wgmmgi:
(A) STt 2t i

(B) 3T et sl

(C) warzat

(D)  gofeed 3

(E) Srgwimwar

Which constituent of Henna dye forms a red
colored compound upon exposure to air or
sﬁn!ighl?

Chaosc the most appropriate answer from the
oplions given below:

(A) Lawsone

(B) Ammonjum Chloride

(C) Quinone

(D)  Nephthoquinone

(E)  Question not nttempted

Feem Gorer o1 2 v g o ¥
e T 3T 0T 17 36 )i
Freafifia Franedt & wratfoes sages s g
(A) N (B)  STiFrY TS
() Freia (D) AifER

(B) orgafawy
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